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Grade 12 - General - Physics

Exam
End of Term 1/ 2023-2024
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Q.1: Charging by induction

4 Al QL) (0a o) clgaads G G193 OSSN (538 (o Al Aty A5 g (il S
L L S0 o cliadl) culi 5 gmasa JSds il
Two identical, neutral, and insulated metal spheres are touching, as
show in the figure. If a negatively charged rod was brought close to
4 one sphere without touching, which of the following figures correctly
shows the charges on the two spheres?




Mark(s): 4/4 Q.2: Coulomb Unit

‘Which of the following correctly defines the Coulomb (C)?

(C) st 58l s iy 23 (s Laa 51

@)
The SI standard unit of charge. Cilaa gl gal) AU & ddaid) (bl Bas g
O
The elementary charge. Aol ddaad) asa
O
The magnitude of the charge of a single Aalgl Ogiasall o oS Adadi jdia
electron or proton. ]
@

The charge of 1.602 x 1071 electon.

Lol 1.602 x 10719 da




Mark(s): 4/4 Q.3: Conductors and Insulators

§ oS U A ) il il L

Which of the following explains why diamond is classified as an insulator?

Charges cannot move easily through
diamond.

The number of electrons in diamond is less
than the number of protons.

Ll g gl a3e e BB Galall (B g S aae

Diamond cannot be charged.

Adas oS Y (ukal)

Electrons can be easily removed from
diamond.

Lomeal) (o A g L) ) ()8 il g SN




Mark(s): 0/4 Q.4: Charging objects

O | Al S i (S Ll Lo el g bl (ploada (panad 1 Ludis
fomaall o clindll Mas pua Jda i 40Y) & ) (4 gl

When you rub two neutral objects such as rubber and wool
together, they become charged. Which of the following statements
correctly describes the combined total charge of the two objects?

It equals zero. Aall (5 gl

It is negative. Ll 058

It is positive. Lasa 0
|
|
; 4 . |
It could be negative or positive. Ll ol g o8y 8 I
|
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Mark(s): 4/4 Q 5: Energy in Electric Circuit
b - A

DA Lolad il ) gy 1 Al gl A8 e la (60,0 T 408 (b ot
R Y

Of = 2H==

A lightbulh has power of 60.0 W. How much electrical energy does it R
transform to radiant energy in 4.00 minutes

0.285]

15.0J




Yo -y Bexlo - \0oX\s® 2. 5y 5°

- 0¢ - 0O.4
X"L - ,)( c Mark(s): 0/4 Q.6: Capacitance of a Capacitor
asox107 _ G S i a sh s e Al At laa Al s ) e
g 2s0x10°¢ | / X < fisal) daw Lo Asa gl G (Al sl agad)
O gl A So
S 100x10-5
;:zszﬁ /K/ﬁ The graph represents the amount of charge stored on one
oot plate of a capacitor as a function of the electric potential
" Potential Difference (V) across its plates. What is the capacitance of the capacitor?
a.
@)
2.5x1075F
b.
4.0 X 10°F
C.
4.0 X 10°5F
*10X
|
| 2.5 X 105F
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S
=l . Q.7: Electric Potential Ener
q&ho JUCI Mark(s). 0/4 gy
A’;'

: Al 2355 S e JA o g Al gl ) 803 B Uig S (Sl gl
5l ———— ALl sl drda g
v N
O,; '\b ()\_"9 l i The figure shows an electron in an atom. To which point should
a N the electron be moved to increase its electric potential energy?
ros
a.
A
b.
B
C. !
|
|
I C
1
|~ b A IR N A = T
d.
D




Mark(s): 4/4 Q.8: Electric Field Lines

O ishia a5l ¢ 39 .7 RS Slad EDE (b ) Jlanall JSS) g s
foliadd) (e JS £ o e JSau O (Y1 Jgaad)
The figure shows the electric field of three charges ¢;, ¢- and ¢;.
‘Which of the following table rows indicates the correct type of
each of the charges?
q1 q: qs
O A - + +
B + - -
C + - +
D - + -
O
B
b. A
c. C
d. D
@)



Mark(s): 4/4 Q.9: Charge on Conductors

mm&nso‘gig&_?&m#émﬂc,miaydm\@ax
A ) .C 8] (AL Jlaal) B 685 Jead) e

e) \ 4 /,5
‘D
u'p WP)\ The figure shows a charged conducting irregular

\' surface. At which of the points, shown on the figure,
C 3 Q }) the electric field is strongest?
( .
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Q.10: Resistance and Current

Juais Ry 9 Ry Laalia glia ¢ ghall (i Lagd uladll e oSt
5 Laga JS (2 jad oV g (38 L A s Lagia S
fAasaa A0 @l kel (e gl LJSAl B LS il S

Two copper wires with the same length and their
resistances are R, and Rs. Each wire is connected
to a battery with voltage V, so that a current
passes across it, as shown in the figure.

‘Which of the following statements is correct?

Ri<Rg
I.>1e

I

1

[

1

i
N 1 [ T U U
b.

RA=RB
1 A=IB

C.

Ri>Rg
L<Ip

Ri<Rs
I.<Ip
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Q.11: Controlling Electric Current

Ammeter
(A)
@&
QLS gl
Switch
a,las +
Battery —.
asd) i Sle

(slwss )
Potentiometer
(variable resistor)

95 gbamal) Bl B jlal) L) Badi el daladiin) oSas Y (il Laa s

‘Which of the following cannot be used to change the electric
current in the electric circuit shown in the figure?

a.
I R - » i
@) the Ammeter / C(//()\ O_o_k.Qa siaY) I
o :
. 1
D, @ s o e e e e e mm e e e mm e e e e e e e e e e e e e e e e
the switch P d—v\'\.x Al i)
@)
C.
the battery ('\/\fj& 2 MRy gy
d.

the potentiometer

/L_LJ ) ,::}'\) ) (s 52




Mark(s): 4/4 Q.12: Electric Current

O
C(A) Y] (A s laa sl
‘Which of the following is equivalent to Ampere (A)?

- Q ——————————————————————————————————————— -
|
|

C/s :
|
|

T .

O
s/C
Cs
C.s?
% (<)

1

()| = éCSJ
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Mark(s): 4/4 Q.13: Electric Field

Su.qm‘yuﬂgp&ﬁﬁﬁkﬂyq'Jhﬁ\mw\gﬁé
p A Lo il S Jaal 535 La 200 N/C g sbas p 25 (Al Jlaal
12q' A A Uas cde L 1)

—_—

p
. _y The figure shows a test charge q' placed at a point p near a

q charge g. The magnitude of the electric field at p is 200 N/C.
What is the magnitude of the electric field at p if the test charge

is doubled to 2q'?

o &

400 N/C

100 N/C

800 N/C




Mark(s): 4/4 Q.14: Charging by Conduction

I( CC
(o s sl Ay sy Jaaia (s S LS (i Aoles g s iy A5Y) JSEY) G g

Which of the following figures correctly presents charging a neutral electroscope by conduction?

A\
- (5 ________________________________________
b.
==
C.
\
rs




Mark(s): 0/4 Q.15: Energy Transformations in Electric Circuits

5)/)_3‘@( (}%\L’

€59 on A a5 (JElly el Jaedal) B
JS G () gl ighea G ) AT )
€392 <1 Jalsall A 43kl ¢ ol puaua

Generator Jsl)

Motor

Thermal energy &) > a3l

o,4)

In the shown diagram, energy
transforms between different forms,
which of the following table rows
shows the correct forms of energy in 1,
2 and 3?

A agdik & jaall o jads o2 Jradl iy 48 &l
Potential energy Work done by motor Electric energy

B Al g8 Aih g dih o jaall 5 Jads s &) Jadd)
Electric energy Potential energy ‘Work done by motor

C Agily ¢S ABUa & aall 5 jads o Jadd oy ik
Electric energy Work done by motor Potential energy

D JYPIN il 48 At & jaall o ks 1) gl
Potential energy Electric energy Work done by motor

D
@)

A
@)

B




